

5. gyakorlat

$$\textcircled{1} a) T \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 3x-2y \\ x+y \end{bmatrix} \Rightarrow T = \begin{bmatrix} 3 & -2 \\ 1 & 1 \end{bmatrix} (= T_{K \leftarrow \mathbb{R}^2} \text{ kércs. b. -ban})$$

$$F = \left\{ f_1 = \begin{bmatrix} 2 \\ 3 \end{bmatrix}, f_2 = \begin{bmatrix} 1 \\ 2 \end{bmatrix} \right\} \Rightarrow A_{K \leftarrow F} = \begin{bmatrix} 2 & 1 \\ 3 & 2 \end{bmatrix}$$

$$T_F = A_{F \leftarrow K} T_K A_{K \leftarrow F} = \begin{bmatrix} 2 & 1 \\ 3 & 2 \end{bmatrix}^{-1} \cdot \begin{bmatrix} 3 & -2 \\ 1 & 1 \end{bmatrix} \cdot \begin{bmatrix} 2 & 1 \\ 3 & 2 \end{bmatrix} = \begin{bmatrix} 5 & -5 \\ 10 & 9 \end{bmatrix}$$

$$c) T: \mathbb{R}^2 \rightarrow \mathbb{R}^3 \quad T \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} x+2y \\ -x \\ 0 \end{bmatrix} \Rightarrow T_K = \begin{bmatrix} 1 & 2 \\ -1 & 0 \\ 0 & 0 \end{bmatrix}$$

$$E = \left\{ e_1 = \begin{bmatrix} 1 \\ 3 \end{bmatrix}, e_2 = \begin{bmatrix} -2 \\ 4 \end{bmatrix} \right\}, F = \left\{ f_1 = \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix}, f_2 = \begin{bmatrix} 2 \\ 0 \\ 0 \end{bmatrix}, f_3 = \begin{bmatrix} 3 \\ 0 \\ 0 \end{bmatrix} \right\}$$

$$A_{K \leftarrow E} = \begin{bmatrix} 1 & -2 \\ 3 & 4 \end{bmatrix} \quad A_{K \leftarrow F} = \begin{bmatrix} 1 & 2 & 3 \\ 1 & 0 & 0 \\ 1 & 0 & 0 \end{bmatrix} = \begin{bmatrix} 0 & 0 & 1 \\ 0 & 1/2 & -1/2 \\ 1/3 & -1/3 & 0 \end{bmatrix}^{-1} \leftarrow \text{ki kell szorzni!}$$

$$T_{F,E} = A_{F \leftarrow K} \cdot T_K \cdot A_{E \leftarrow K} = \begin{bmatrix} 0 & 0 & 1 \\ 0 & 1/2 & -1/2 \\ 1/3 & -1/3 & 0 \end{bmatrix} \cdot \begin{bmatrix} 1 & 2 \\ -1 & 0 \\ 0 & 0 \end{bmatrix} \cdot \begin{bmatrix} 1 & -2 \\ 3 & 4 \end{bmatrix} = \begin{bmatrix} 0 & 0 \\ -1/2 & 0 \\ 4/3 & 2/3 \end{bmatrix} \cdot \begin{bmatrix} 0 & 0 \\ 1/2 & 1 \\ 8/3 & 4/3 \end{bmatrix}$$

2/a) \emptyset

$$b) \begin{vmatrix} 1 & 1 & 1 & 1 & 1 & 1 \\ 1 & 1 & 1 & 1 & 1 & 1 \\ 1 & 2 & 3 & 4 & 1 & 2 \\ 1 & 2 & 3 & 1 & 2 & 1 \end{vmatrix} = \begin{vmatrix} 1 & 1 & 0 & 0 & 0 & 0 \\ 1 & 1 & 1 & 1 & 1 & 1 \\ 1 & 2 & 3 & 1 & 2 & 1 \end{vmatrix} = 100 \cdot \begin{vmatrix} 1 & 1 & 1 & 0 \\ 1 & 1 & 1 & 1 \\ 1 & 2 & 1 & 0 \end{vmatrix}$$

$$= 100 \left[+0 \cdot \begin{vmatrix} 1 & 1 \\ 1 & 2 \end{vmatrix} - \begin{vmatrix} 1 & 1 \\ 1 & 2 \end{vmatrix} + 0 \cdot \begin{vmatrix} 1 & 1 \\ 1 & 1 \end{vmatrix} \right] = 10 \cdot 0$$

$$c) \begin{vmatrix} 1 & 1 & 1 & 1 \\ 2 & -1 & -2 & 1 \\ 4 & 1 & 4 & 1 \\ 8 & -1 & -8 & 1 \end{vmatrix} \xrightarrow{\substack{S_2 - 2S_1 \\ S_3 - 4S_1 \\ S_4 - 8S_1}} \begin{vmatrix} 1 & 1 & 1 & 1 \\ 0 & -3 & -4 & -1 \\ 0 & -3 & 0 & -3 \\ 0 & -9 & -16 & -7 \end{vmatrix} \xrightarrow{\text{kid.}} \begin{vmatrix} -3 & -4 & -1 \\ -3 & 0 & -3 \\ -9 & -16 & -7 \end{vmatrix} \xrightarrow{S_3 - 4S_1} \begin{vmatrix} -3 & -4 & -1 \\ -3 & 0 & -3 \\ 3 & 0 & -3 \end{vmatrix} =$$

$$\xrightarrow{\text{kid.}} \begin{vmatrix} -3 & -3 \\ 3 & -3 \end{vmatrix} = 4 \cdot (9 + 9) = 72$$

$$1) \begin{vmatrix} p^2 & p & 1 & 2rs \\ 2^2 & 2 & 1 & prs \\ r^2 & r & 1 & pqs \\ s^2 & s & 1 & pqr \end{vmatrix} = \frac{1}{p^2rs} \cdot \begin{vmatrix} p^3 & p^2 & p & p^2rs \\ 2^3 & 2^2 & 2 & p^2rs \\ r^3 & r^2 & r & p^2rs \\ s^3 & s^2 & s & p^2rs \end{vmatrix} = \begin{vmatrix} p^3 & p^2 & p & 1 \\ 2^3 & 2^2 & 2 & 1 \\ r^3 & r^2 & r & 1 \\ s^3 & s^2 & s & 1 \end{vmatrix}$$

Tfth: ~~p^2rs~~ $p \cdot q \cdot r \cdot s \neq 0$ (leggik sam \emptyset)

↑
Van der Monde matrix!

$$= (-1)^3 \cdot \begin{vmatrix} 1 & p^3 & p^2 & p \\ 1 & 2^3 & 2^2 & 2 \\ 1 & r^3 & r^2 & r \\ 1 & s^3 & s^2 & s \end{vmatrix} = (-1)^3 \cdot (-1)^2 \cdot \begin{vmatrix} 1 & p & p^3 & p^2 \\ 1 & 2 & 2^3 & 2^2 \\ 1 & r & r^3 & r^2 \\ 1 & s & s^3 & s^2 \end{vmatrix} = \begin{vmatrix} 1 & p & p^2 & p^3 \\ 1 & 2 & 2^2 & 2^3 \\ 1 & r & r^2 & r^3 \\ 1 & s & s^2 & s^3 \end{vmatrix} = \begin{matrix} (s-r)(s-2) \\ (s-p)(r-2) \\ (r-p)(2-p) \end{matrix}$$

3/a) $-1 \cdot 3 \cdot 1 + (-7) \cdot 0 + 2(-1) = 1$

$$\begin{vmatrix} 3 & 1 & 4 & 4 \\ -7 & 2 & 7 \\ 2 & 1 & 4 \end{vmatrix} \begin{matrix} \text{det} \\ \frac{1}{24} \\ \frac{1}{24} \\ \frac{1}{24} \end{matrix} \parallel \begin{vmatrix} 27 & -77 & 72 \\ 14 & 24 & 21 \\ 14 & 34 & 31 \\ 14 & 24 & 21 \\ 27 & -77 & 72 \end{vmatrix}^T = \begin{vmatrix} 1 & 42 & -11 \\ 0 & 4 & -1 \\ -1 & -49 & 13 \end{vmatrix}^T = \begin{vmatrix} 1 & 0 & -1 \\ 42 & 4 & -49 \\ -11 & -1 & 13 \end{vmatrix}$$

b)

$$\begin{vmatrix} 0 & 1 & 0 & 0 \\ 2 & 0 & 0 & 0 \\ 0 & 0 & 3 & 0 \\ 0 & 0 & 0 & 4 \end{vmatrix}^{-1} = \begin{vmatrix} 000 & 200 & 200 & 200 \\ 030 & 030 & 000 & 000 \\ 004 & 004 & 004 & 000 \\ 100 & 000 & 010 & 010 \\ 030 & 230 & 000 & 003 \\ 004 & 004 & 004 & 000 \\ 100 & 000 & 010 & 010 \\ 200 & 200 & 200 & 200 \\ 004 & 004 & 004 & 000 \\ 100 & 000 & 010 & 010 \\ 000 & 200 & 200 & 200 \\ 030 & 030 & 000 & 003 \end{vmatrix}^T = \begin{vmatrix} 0 & -24 & 0 & 0 \\ -12 & 0 & 0 & 0 \\ 0 & 0 & -8 & 0 \\ 0 & 0 & 0 & -6 \end{vmatrix}^T$$

-24

$$= \begin{vmatrix} 0 & \frac{1}{2} & 0 & 0 \\ 1 & 0 & 0 & 0 \\ 0 & 0 & \frac{1}{3} & 0 \\ 0 & 0 & 0 & \frac{1}{4} \end{vmatrix}$$